Prob

Time

206000

204000

202000

200000

198000

196000

194000

1.055
1.05
1.045
1.04
1.035
1.03
1.025
1.02
1.015
1.01
1.005

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014
0.012

0.01

brbo.txt, L = avg, a =1

12



Prob

Time

204000

202000

200000

198000

196000

194000

192000

1.055
1.05
1.045
1.04
1.035
1.03
1.025
1.02
1.015
1.01
1.005

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014
0.012

0.01
0.008

brbo.txt, real L, a =1

\\‘ .
2 4 6 8 10 12
2 4 6 8 10 12
2 4 6 8 10 12
Delta



250000
240000
230000
f 220000
210000
200000

190000

1.3
1.25
1.2
P, 1.15
1.1

1.05

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014
0.012

0.01
0.008

Time

brbo.txt, L = avg, « =5

2 4 o : N ]
\ _
\\77\—,
- B _
2 4 o : N ]
\7”7”77 / — P :
2 4 o : 10 |
Delta



250000
240000
230000

F 220000
210000
200000

190000

1.3
1.25
1.2
P, 1.15
1.1

1.05

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014

Time

0.012

0.01
0.008

brbo.txt, real L, a =5

2 4

2 4
\/7/ // -

2 4



300000
290000
280000
270000
260000
250000
240000
230000
220000
210000
200000
190000

1.5
1.45
1.4
1.35
1.3

Prob

Time

1.25
1.2
1.15
1.1
1.05

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014

0.012

0.01
0.008

brbo.txt, L = avg, « =9

2 4 6

> 1 6

\/// S

2 4 6
Delta



290000
280000
270000
260000
250000
240000
230000
220000
210000
200000
190000

1.5
1.45
1.4
1.35
1.3

Prob

Time

1.25
1.2
1.15
1.1
1.05

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014
0.012

0.01
0.008

brbo.txt, real L, a =9




340000
320000
300000
280000
260000
240000
220000
200000
180000

1.8
1.7
1.6
1.5

P 1.4

Time

1.3
1.2
1.1

1

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014
0.012

0.01
0.008

brbo.txt, L = avg, a = 13




340000
320000
300000
280000
260000
240000
220000
200000
180000

1.8
1.7
1.6
1.5

P 1.4

Time

1.3
1.2
1.1

1

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014
0.012

0.01
0.008

brbo.txt, real L, « = 13




380000
360000
340000
320000
300000
280000
260000
240000
220000
200000
180000

1.9
1.8
1.7
1.6

Prob

Time

1.5
1.4
1.3
1.2
1.1

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014

0.012

0.01
0.008

brbo.txt, L = avg, a = 17

\ _
2 4 6
2 4 6
o - I
2 4 6
Delta



380000
360000
340000
320000
300000
280000
260000
240000
220000
200000
180000

1.9
1.8
1.7
1.6

Prob

Time

1.5
1.4
1.3
1.2
1.1

0.03
0.028
0.026
0.024
0.022

0.02
0.018
0.016
0.014
0.012

0.01
0.008

brbo.txt, real L, a = 17

10



mdmi.txt, L = avg, a = 1
525000 .
520000 |
515000 |
510000 | -
505000 \
500000 | —
495000 +
490000 !
2 4 8 10 12
1.06 .
1.05 +
1.04 +
P., 1.03F i
1.02 i
1.01 | o
1
0 2 6
90 .
80
70
60
50
TS
ime 20l
30 +
20
10 +
0 - —
4 6 10
Delta

12

0

11



mdmi.txt, real L, o = 1

590000
585000
580000
575000
570000
565000
560000

555000
0

1.055

1.05 |

1.045

1.04 |

1.035

P, 103
1.025

1.02 |

1.015

1.01 |

1.005
0

100

90

80

70

60

Time 50
40

30

20

10

12

0
0

12



mdmi.txt, L = avg, a =5

660000
640000
620000
600000
580000
560000
540000
520000
500000

480000
0

1.3

1.25

PTOb 115 B

1.1

1.05

90
80
70
60
50
40
30
20
10

Time

12

13



mdmi.txt, real L, o = 5

720000

700000
680000
660000
640000
620000
600000
580000
560000

540000
0

1.3

1.25

1.2

Prob
1.1 +

1.05

Time

100
90
80
70
60
50
40
30
20
10

12

14



mdmi.txt, L = avg, a =9
800000
750000 | 1
700000 1
650000 | 1
600000 | ‘\\\\\\\\\\\ :
550000 | [ i
500000 F 1
450000
2 4 6 8 10 12
1.55
1.5 F 1
1.45 t
14
1.35 t 1
P, 13F 1
1.25 t . 1
1.2 | \\\\\\\ .
115 - ‘\;\
1.05
0 2 4 6 8 10 12
90 . .
80 | 1
70 b
60
50 b
T
1ime 4 0 |
30 |
20 + /
10 /
0 1 1 _—
2 4 6 8 10
Delta

12

0

15



mdmi.txt, real L, « = 9

850000

800000

750000

700000

650000

600000

550000
0

1.5
1.45
1.4
1.35
1.3

Prob

1.2
1.15
1.1

1.25

1.05

100

90

80

70
60
Time

50
40
30
20
10

0

12

0
0

16



mdmi.txt, L = avg, a = 13
900000 . :
850000 §
800000 §
750000 §
700000 §
650000 §
600000 _ i
550000 —_ |
500000 + §
450000
2 4 8 10 12
1.8
1.7 ¢ i
1.6 + i
1.5 i
Prob
14 ¢ i
1.3} \ ]
1.2 + — ]
0 2 8 10
90
80
70 +
60 |
50 + /
Ti /
ime .| /
30 /
20 + /
10 )
0 I I _—
2 6 8 10
Delta

12

0

17



mdmi.txt, real L, « = 13

950000
900000
850000
800000
750000
700000
650000
600000

550000
0

1.7
1.6
1.5
14
1.3
1.2

Prob

1.1

1

120

100

80

Time 60
40

20

12

18

12



le+06
900000
800000
700000
600000
500000

400000

2.1
2
1.9
1.8
1.7
P, 16
15
1.4
1.3
1.2
1.1

100
90
80
70
60

Time 50
40

30

20

10

0

mdmi.txt, L = avg, a = 17

19

12



mdmi.txt, real L, o = 17

1.1e4+06

le+406

900000

800000

700000

600000

500000
0

1.9
1.8
1.7
1.6
1.5
1.4
1.3
1.2

Prob

1.1

100
90
80
70
60
Time 50
40
30
20
10

12

20



Prob

Time

36500
36000
35500
35000
34500
34000
33500
33000

1.1
1.09
1.08
1.07
1.06
1.05
1.04
1.03
1.02
1.01

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, L = avg, a =1

2 4 6 8 10 12
_ i
\\ |
2 4 6 8 10 12
2 4 6 8 10 12
Delta

21



Prob

Time

36000
35500
35000
34500
34000
33500
33000
32500
32000

1.1
1.09
1.08
1.07
1.06
1.05
1.04
1.03
1.02
1.01

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, real L, o =1

22



Prob

Time

50000
48000
46000
44000
42000
40000
38000
36000
34000
32000

1.5
1.45
1.4
1.35
1.3
1.25
1.2
1.15
1.1
1.05

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, L = avg, « =5

23



Prob

Time

50000
48000
46000
44000
42000
40000
38000
36000
34000
32000

1.5
1.45
1.4
1.35
1.3
1.25
1.2
1.15
1.1
1.05

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, real L, « =5

24



65000
60000
55000
50000
45000
40000
35000
30000

1.9
1.8
1.7
1.6
1.5

Prob

Time

1.4
1.3
1.2
1.1

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, L = avg, « =9

2 4

2 4
\\\\\\/77

2 4

25



65000
60000
55000
50000
45000
40000
35000
30000

1.9
1.8
1.7
1.6
1.5

Prob

Time

1.4
1.3
1.2
1.1

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, real L, « =9

26



75000
70000
65000
60000
55000
50000
45000
40000
35000
30000

24
2.2

1.8

Prob

Time

1.6
1.4
1.2

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, L

=avg, a =13

27



75000
70000
65000
60000
55000
50000
45000
40000
35000
30000

24
2.2

1.8

Prob

Time

1.6
1.4
1.2

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, real L, a = 13

28



90000
80000
70000
60000
50000
40000
30000

2.8

2.6

24
2.2

Prob

Time

1.8
1.6
1.4
1.2

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, L

=avg, a =17

4 6

4 6

4 6
Delta

29



90000
80000
70000
60000
50000
40000
30000

2.8

2.6

24
2.2

Prob

Time

1.8
1.6
1.4
1.2

0.0075
0.007
0.0065
0.006
0.0055
0.005
0.0045
0.004
0.0035
0.003
0.0025
0.002

bzvr.txt, real L, o = 17




Prob

Time

10050
10000
9950
9900
9850
9800
9750
9700
9650
9600
9550

1.05
1.045
1.04
1.035
1.03
1.025
1.02
1.015
1.01
1.005

0.0014
0.0013
0.0012
0.0011

0.001
0.0009
0.0008
0.0007
0.0006
0.0005
0.0004
0.0003

pdbo.txt, L = avg, a = 1

2 4 6 8 10 12
— |
\‘ - _
2 4 6 8 10 12
. / 1
_— o ]
\//,/ — |
2 4 6 8 10 12
Delta

31



Prob

Time

10200
10150
10100
10050
10000
9950
9900
9850
9800
9750
9700

1.045
1.04
1.035
1.03
1.025
1.02
1.015
1.01
1.005

0.0014
0.0012

0.001
0.0008
0.0006
0.0004
0.0002

pdbo.txt, real L, o =1

2 4 6 8 10 12
— i
2 4 6 8 10 12
— P / - i
2 4 6 8 10 12
Delta

32



12000

11500

11000

10500

10000

9500

1.25
1.2

1.15
Prob
1.1

1.05

0.0014
0.0013
0.0012
0.0011

0.001
0.0009
0.0008
0.0007
0.0006
0.0005
0.0004
0.0003

Time

pdbo.txt, L = avg, « =5

12

33



12000

11500

11000

10500

10000

9500

1.25
1.2

1.15
Prob
1.1

1.05

0.0014
0.0013
0.0012
0.0011

0.001
0.0009
0.0008
0.0007
0.0006
0.0005
0.0004
0.0003

Time

pdbo.txt, real L, a =5

\\‘
2 4 6 8 10 12
\\7; .
2 4 6 8 10 12
— T ”/ ]
2 4 6 8 10 12
Delta

34



Prob

Time

13500
13000
12500
12000
11500
11000
10500
10000

9500

1.45
1.4
1.35
1.3
1.25
1.2
1.15
1.1
1.05

0.0014
0.0013
0.0012
0.0011

0.001
0.0009
0.0008
0.0007
0.0006
0.0005
0.0004
0.0003

pdbo.txt, L = avg, « =9

\\\ _
—

2 4 6 10 12

\\ |

\7 B |

2 4 6 10 12

2 4 6 10 12
Delta



Prob

Time

14000
13500
13000
12500
12000
11500
11000
10500
10000

9500

1.45
1.4
1.35
1.3
1.25
1.2
1.15
1.1
1.05

0.0014
0.0013
0.0012
0.0011

0.001
0.0009
0.0008
0.0007
0.0006
0.0005
0.0004
0.0003

pdbo.txt, real L, a =9

2 4 6 8 10 12
\\7; 1
2 4 6 8 10 12
T~ //7%‘7 - :
2 4 6 8 10 12
Delta



16000
15000
14000
13000
12000
11000
10000

9000

1.6

1.5

1.4

P, 13

Time

1.2

1.1

0.0014
0.0013
0.0012
0.0011

0.001
0.0009
0.0008
0.0007
0.0006
0.0005
0.0004
0.0003

pdbo.txt, L = avg, o = 13




16000
15000
14000
13000
12000
11000
10000

9000

1.6

1.5

1.4

P, 13

Time

1.2

1.1

0.0014
0.0013
0.0012
0.0011

0.001
0.0009
0.0008
0.0007
0.0006
0.0005
0.0004
0.0003

pdbo.txt, real L, a = 13

38



17000
16000
15000
14000
13000
12000
11000
10000

9000

1.8
1.7
1.6
1.5

P 1.4

Time

1.3
1.2
1.1

0.0014
0.0013
0.0012
0.0011

0.001
0.0009
0.0008
0.0007
0.0006
0.0005
0.0004
0.0003

pdbo.txt, L = avg, o = 17

39



18000
17000
16000
15000
14000
13000
12000
11000
10000

9000

1.8
1.7
1.6
1.5

P 1.4

Time

1.3
1.2
1.1

0.0014
0.0013
0.0012
0.0011

0.001
0.0009
0.0008
0.0007
0.0006
0.0005
0.0004
0.0003

pdbo.txt, real L, o = 17

40

4 6
4 6
/\ //
4 6
Delta



